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Part-1 (Botany)
(2 == ¢ Tfgw [ =)

1. Name the edible part of an apple. i 1

A GG PSR T 7R

2. Why grafting is not possible in monocot plants ? 1
GGG TGS (SRl T e 72y oy ?
3.  Name the micro-organism that converts milk to curd. Al

MNIRE O (= FA =1 SGERBR 1 ol |

4. What is the function of DNA ligase ? 1.

f© @7 @ =i 9 & ¢

5.  What is missing link ? Describe briefly with an example. . Il
ISRl TR &5 2 GOt Srizagerey 5y a9 WA
Or / g1
2

Define Recapitulation theory with examples.
@WT@W ?ﬁaﬁﬁs“ RISSILE B e ol |

6. What is transgenic plant ? Mention fwo advantages and one example of

transgenic plant. Ih5=2)
xR ST A R ¢ acxafis S 7oy fRa T O TR
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Or / 5241

Write on the importance of_ biopiracy. ; 2
. el wwes JE &l
7.  Differentiate allelopathy and antibiosis. 1+1=2
AT AR o GFBARHE AAFIEe T4
Or / F241

What is age pyramid ? Draw the expanding age pyramid and label its
parts. : 1+1=p

= PRIRS w2 RER Prafics B o o sei@s bies <)

8.  Write short note on the following : (any one) E
oY, Bt o2l (Rt 9BIF)
()  Gene gun
&= 5
(i) Tools of genetic engineering
e wifmmes wifze
(iti) Gene cloning
fem TR
9. What are the conditions of biopatent ? 2

ATCACEHS b6 TE & &
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10.

T

Or / g4

Write about the function and principle of ELISA technique. 2
'ELISA @i 3 siis a9 [aey i |
Write scientific name and utility of the following plants: (any two)
f5tal =2

weTe Al SfemTRe el aW o e fdl « (R 7o19)
(a) Teak

el
(b) Indian ginseng

9Tl
(¢) Chinchona

ol
(d) Sissoo

=g
Write briefly the chemical origin of life on the ear th. 3
sjfafre G TP Teriles R vate fapey |

Or / &4t

“Survival of the fittest”, explain”the statement with the help of Darwin’s

theory. 3

“elrer TG, TGS TEAMA TS @B B A T
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14.

What is tissue culture ? Write the advantages of tissue culture.

TR 5 2 poiil FRdl TR B |
Or / 925

What is meant by somatic hybridization ? Give an account on necessary

steps of the method with an example. 1+2=3

<P Stcerael iy o 4@ ¢ <P BIzETE 43 2fFS SRR R T 76
oz |

Define fermentation and describe briefly how alcohol is produced in this

process, 1+2=3
99 aifera el ol OIS 92 A@iow FE! (G A@0 F1 B O 5 01 g |
Or / 924!

What are biopesﬁcides? Write briefly on biopesticides with examples.
1+2=3

CSR SToas fo5 2 SAIEECPIR (e o e |

What is double fertilization ? Describe the process with diagrams from the

stage of megaspore formation to zygote formation. v 1+4=5

B-Fsw & » Bz AT 910 T91 o1 CASH (T Fo=teic® AFAH I T4 |
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Or / 92

Why meiosis is essential at the time of sporogenesis in angiosperms ?
Explain the process of development of male gametophyte in angiosperms

with suitable diagrams. \ 15540
‘@WW@WWWWWW?@WW
GG T =S Toige Basz i 41 |
15.  What is genetic engineering ? Describe the major steps of gene cloning
technology. 1+4=5
T e & ¢ fm ke o e weomed 30 FE|
Or / gt
Write an account of biotechnological applications in medicine.

B Fere SR SRR 2 Tae « o 399 W@l
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Part-II (Zoology)
(TS & 2fiaEsE=)

1.  Fill in the blanks: (any two) 1x2=2

AT 32 o7l = ¢ (Fizeieal 7o)

(1) Anterior part of sperm is called

S I e —— I R AN

(b)  Archaeopteryx is a connecting link between reptiles and

SRR oo 2 AR ST T ARG G

(©) Genetic constitution of an organism is called

' 5] SIS ST SR |

(d) Cancer causing viruses are known as

T ot e <t S e IF oo =

28 Answer any two : 1x2=2

RicIE 7517 e fordl ¢

(@)  What is interspéciﬁc hybridization ?

SN seadl [ °
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(b) What are the restriction enzymes ?
‘ERI R TR & 2
(c) What is the first infective stage of malarial parasite in man ?
Wmﬁmﬁ%ﬁmﬂaﬁﬁaawvﬁmm%?
(d) What is ex-sifu conservation ?
Jfeeg = 6 2
3. Answer any four : Ix4=8
Rizizat bIf619 ©ed i ¢
(a) What are the significance of crossing OVer ?
sfiacaifes o & 2
(b) Write briefly on haemophilia.
e fekme FEw s |
(¢ What do you mean by adaptive radiation ?
sgel 2P IFE & g ‘
(d) Write the various components of immuneé system.

sy O [fen Ssme R B
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(e) Write the various causes of water pollution.

Al 2T [iea e FR &2

() What are the factors of population growth ?

S e e B 2

4. Write differences between : (any two) 2x2=4

RicPIea) w519 =iy B2 2
(@) Parturition and lactation

ST I e
(b).  Down's syndrome and Klinefelter's syndrome.
() Vaccination and immunisation

bRt e e
(d) COnVEI‘gent evolution and divergent evolution.

SIS st S ST T

2+1=3

5. Draw a neat [abelled diagtam of a human sperm.

af5 T sy AFER BES Ba wiv|
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Or / S<1

Diagrammatically express the Watson-Crick's semiconservative models of

DNA feplication. 3

AT i e S DNA 3 9% v 2opiome Bam el e 1

6. What are sexually transmitted diseases ? Write its various types of

preventive measures. 1+2=3

el eife bt A1 TRGIe! T @E 2 @3 (91 AfPERE s 2
Or / T3

Write the various methods of cancer detection and diagnosis. 3

S50 W S Brewer AaferE T

7. Describe about the Pedigree analysis.
XN TS [ ~RFST! 3¢t 4 |

Or / F241

Describe about the 'greenhouse’ effect.

FToTH)Z SR TS Il 1 |

8.  Describe the Mendel's laws of jnheritance. 5

G 3O TR g STz 2 4|
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Or / §2<1

'DNA is a genetic matei‘ial', explain the statement with the help of Alfred
Hershey and Martha Chase experiment. : 5

T. @ €. 25 ey w7, e srEe AR o WA 6T AR s
TR |

Describe the process of the flow of energy in different trophic level of an

ecosystem. 5

+RR2S o7 g BRor (TET B9 e @z afem M =01
Or / 91

What is ecological pyramid ? Explain different types of ecological pyramid

BT fopaifayg 2 ¢ RIS 4a9e T aiene PRINes R fas 7w iy
91 |
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